Date	Minister	From	Gift Details	Value	Disposal and Location
2023/24	Premier Rocklliff, Ministers Abetz, Barnett, Duigan, Ellis, Ferguson, Howlett, Jaensch, Ogilvie, Palmer and Street	Qantas Airways Limited	1 x Qantas Chairman's Lounge Membership	\$699.00	Retained by the Premier
2023/24	Premier Rockliff and Ministers Duigan and Ferguson	Virgin Australia	1 x Virgin Australia Lounge Membership	\$399.00	Retained by the Premier
02/11/23	Minister Jaensch	Hive Tasmania	1 x Book "Australia in Space" by Kerrie Dougherty	\$75.00	Retained by the recipient
03/11/23	Minister Street	Clubs Tasmania	1 x Ticket - Clubs Tasmania Sports Luncheon	\$115.00	Retained by the recipient
04/11/23	Minister Street	Motorsports Tasmania Pty Ltd	4 x Tickets - Baskerville Historics @ \$60 each	\$240.00	Retained by the recipient
04/11/23	Premier Rockliff	Tasmania JackJumpers	5 x Tickets - 2023/24 Hungry Jack's NBL Season Game Tasmania JackJumpers v Brisbane Bullets @ \$343.75 each	\$1,718.75	Retained by the recipient
04/11/23	Minister Palmer	Tasmania JackJumpers	4 x Tickets - Tasmanian JackJumpers vs Brisbane Bullets NBL Game @ \$343.75 each	\$1,375.00	Retained by the recipient
04/11/23	Minister Jaensch	Tasmania JackJumpers	1 x Corporate Box - Tasmania JackJumpers v Brisbane Bullets NBL Game @ \$343.75 each	\$2,750.00	Retained by the recipient
06/11/23	Premier Rockliff	Gladding-Hearn Shipbuilding	1 x Small Hand Painted Indigenous Canvas	\$50.00	Retained by the recipient
08/11/23	Minister Ogilvie	Navantia Australia	1 x Navantia Scarf	\$60.00	Retained by the recipient
10/11/23	Minister Palmer	Josef Chromy Wines	2 x Tickets - Effervescence Tasmania Gala Dinner @ \$175.00 each	\$350.00	Retained by the recipient
11/11/23	Minister Street	Hockey Tasmania	3 x Tickets - Tassie Tigers v Adelaide Fire 2023 JDH Hockey One League Match @ \$80.00 each	\$240.00	Retained by the recipient
13/11/23	Minister Barnett	Neill-Fraser Support Group Inc.	2 x Paperback Books "Southern Justice" by Colin McLaren @ \$35.00 and "The Exoneration Papers" by Andrew L. Urban @ \$30.00	\$65.00	Retained by the recipient
14/11/23	Premier Rockliff	H.E. Mr Manpreet Vohra, Indian High Commissioner	1 x Book "Incredible Treasures, UNESCO World Heritage Sites of India" Editors: Shikha Jain, Vinay Sheel Oberoi Photo Editor: Rohit Chawla	\$66.98	Property of the Crown

Date	Minister	From	Gift Details	Value	Disposal and Location
17/11/23	Minister Ellis	Men's Resources Tasmania	1 x Ticket - 2023 International Men's Day Breakfast	\$60.00	Retained by the recipient
17/11/23	Minister Ellis	Hon Brendan O'Connor, Federal Minister for Skills, Training and Workforce Growth	1 x Ticket - 2023 Australian Training Awards Dinner	\$150.00	Retained by the recipient
17/11/23	Minister Street	Tourism Industry Council Tasmania	1 x Ticket - 2023 Tasmanian Tourism Awards Gala	\$209.00	Retained by the recipient
20/11/23	Minister Duigan	APA Group	1 x APA Group Dinner - Peppina	\$120.00	Retained by the recipient
22/11/23	Minister Ogilvie	Tasmanian Museum and Art Gallery	1 x Ticket - Tasmanian Museum and Art Gallery Foundation Christmas Party	\$240.00	Retained by the recipient
23/11/23	Premier Rockliff	Callington Mill Distillery	1 x Callington Mill Special Limited Release Whisky "Christmas Cask" 700 ML Bottle	\$165.00	Retained by the recipient
28/11/23	Premier Rockliff, Ministers Barnett, Duigan, Ellis, Ferguson, Jaensch, Ogilvie and Palmer	Callington Mill Distillery	1 x Callington Mill Special Limited Release Whisky "Christmas Cask" 700 ML Bottle	\$165.00	Retained by the recipient
01/12/23	Premier Rockliff	Cricket Tasmania	1 x Hobart Hurricanes 2023-24 Member Package - Mini Helmet and Scarf @ \$75.00 and Chair Lounge Gold Pass@ \$1000	\$1,075.00	Retained by the recipient
02/12/23	Premier Rockliff	Riana Cricket Club	1 x Ticket - Riana Cricket Club "An Evening with Sir Ian Botham"	\$50.00	Retained by the recipient
01/12/23	Minister Street	Cricket Tasmania	1 x Hobart Hurricanes 2023-24 Member Package Gold Pass	\$1,000.00	Retained by the recipient
20/12/23	Minister Street	PinPoint Group	4 x Tickets - Tasmania's Taste of Summer Multi Day Pass @ \$40.00 each	\$160.00	Retained by the recipient
20/12/23	Premier Rockliff and Minister Barnett	Mondelez Australia Pty Ltd	1 x Happy Holidays Promotional Box of Chocolates and Lollies	\$60.00	Retained by the recipient
20/12/23	Minister Ferguson	Mondelez Australia Pty Ltd	Mondelez Australia Pty Ltd	\$60.00	Donated to the LGH Central Auxiliary

Date	Minister	From	Gift Details	Value	Disposal and Location
20/12/23	Premier Rockliff, Ministers Ellis, Ferguson and Street	Huon Aquaculture Company Pty Ltd	1 x 1.5kg Salmon Fillet	\$55.50	Retained by the recipient
22/12/23	Minister Street	Allan Batchelor (Private Citizen)	1 x Box of Fresh Farm Cherries 2.5kg	\$60.00	Retained by the recipient
28/12/23	Premier Rockliff	The Royal Yacht Club of Tasmania	2 x Rolex Sydney Hobart Yacht Race 2023 Long Sleeve Polo Shirts @ \$80.00 each	\$160.00	Retained by the recipient
28/12/23	Premier Rockliff	Cricket Tasmania	7 x Tickets - Hobart Hurricanes v Melbourne Stars BBL13 Game @ \$265.00 each	\$1,855.00	Retained by the recipient
06/01/24	Minister Street	Tasmania JackJumpers	4 x Tickets - Tasmania JackJumpers v Cairns Taipans NBL Game @ \$343.75 each	\$1,375.00	Retained by the recipient
12/01/24	Minister Ferguson	Tasmania JackJumpers	1 x Corporate Box - Tasmania JackJumpers v Illawarra Hawks NBL Game - 8 tickets @ \$343.75 each	\$2,750.00	Retained by the recipient
16/01/24	Minister Street	Cricket Australia	1 x Ticket - Perth Scorchers v Sydney Sixers BBL13 Game	\$150.00	Retained by the recipient
19/01/24	Premier Rockliff	Tennis Australia	2 x Tickets - Australian Open 2024 @ \$1024.00 each	\$2,048.00	Retained by the recipient
19/01/24	Minister Palmer	Tasmania JackJumpers	6 x Tickets- Tasmania JackJumpers v Melbourne United NBL Game @ \$343.75 each	\$2,062.50	Retained by the recipient
25/01/24	Minister Ellis	Tasmanian Racing Club	1 x Tasmanian Racing Club (TRC) 2024 Honorary Membership	\$280.00	Retained by the recipient
30/01/24	Minister Palmer	Cricket Tasmania	2 x Tickets - Womens T20 International @ \$170.00 each	\$340.00	Retained by the recipient
01/02/24	Ministers Duigan and Ferguson	City of Launceston / Festivale	1 x Ticket - Festivale 2024 Sponsors and Event Partners Cocktail Party	\$125.00	Retained by the recipient
01/02/24	Minister Ogilvie	Narryna, Tasmanian Museum and Art Gallery	1 x Ticket - "Homecoming at Narryna" Exhibition Opening Cocktail Party	\$50.00	Retained by the recipient
04/02/24	Minister Duigan	Tasmanian Turf Club	2 x Tickets - Magic Millions Luncheon @ \$95.00 each	\$190.00	Retained by the recipient
04/02/24	Premier Rockliff	Tasmania JackJumpers	8 x Tickets - 2023/24 Hungry Jack's NBL Season Game Tasmania JackJumpers v Adelaide 36ers @ \$343.75 each	\$2,750.00	Retained by the recipient

Date	Minister	From	Gift Details	Value	Disposal and Location
04/02/24	Premier Rockliff	Tasmania JackJumpers	1 x Tasmania JackJumpers 23/24 Teal Round Adult Jersey	\$139.95	Retained by the recipient
05/02/24	Premier Rockliff	Jeremy Lee International Fan Club (Australian Branch)	1 x Jeremy Lee Gift Package - 3 x Plush Toys and Promotional Material	\$100.00	Retained by the recipient
11/02/24	Premier Rockliff	Tasmanian Racing Club	1 x Ticket - Ladbrokes 150th Hobart Cup Committee Luncheon	\$365.00	Retained by the recipient
14/02/24	Minister Palmer	Tamar Natural Resource Management	2 x Tickets - Sustainable Living Festival 2024 Sustainable Business and Community Awards @ \$55.00 each	\$110.00	Retained by the recipient
16/02/24	Minister Palmer	Isabella Topperwein	1 x Isabella Topperwein (Artist) Canvas Painting	\$350.00	To remain property of the Crown
16/02/24	Premier Rockliff and Minister Palmer	Evenfall Wines and Bellebonne	2 x Tickets - Long Table Dinner @ \$250.00 each	\$500.00	Retained by the recipient
17/02/24	Minister Palmer	Tasmanian JackJumpers	2 x Tickets - Tasmanian Jackjumpers v Perth Wildcats NBL Game @ \$95.00 each	\$190.00	Retained by the recipient
17/02/24	Minister Street	Tasmanian JackJumpers	4 x Tickets - Tasmanian Jackjumpers v Perth Wildcats NBL Game @ \$95.00 each	\$380.00	Retained by the recipient
24/02/24	Premier Rockliff	New Horizons Tasmania	1 x Ticket - New Horizons Tasmania 2024 Awards Night	\$50.00	Retained by the Premier
28/02/24	Minister Duigan	Tasracing	1 x Ticket - 2024 Ladbrokes Launceston Cup	\$385.00	Retained by the recipient
28/02/24	Premier Rockliff, Ministers Ferguson and Palmer	Tasmanian Turf Club	1 x Ticket - 2024 Ladbrokes Launceston Cup Official Luncheon	\$330.00	Retained by the recipient
28/02/24	Minister Street	National Basketball League Australia	2 x Tickets - Tasmania JackJumpers v Illawarra Hawks Seeding Qualifier NBL Final @ \$400.00 each	\$800.00	Retained by the recipient
02/03/24	Minister Ogilvie	Theatre Council of Tasmania	1 x Ticket - Tasmanian Theatre Awards 10th Anniversary	\$115.00	Retained by the recipient
06/03/24	Premier Rockliff and Minister Ogilvie	Tourism Industry Council Tasmania	1 x Ticket - Tourism Industry Council Tasmania (TICT) Tourism Collective Luncheon: International Women's Day 2024	\$165.00	Retained by the recipient

Date	Minister	From	Gift Details	Value	Disposal and Location
07/03/24	Premier Rockliff	The Nightly News - 2 @ \$25.00 each	2 x "The Nightly" YETI Stackable Cup with MAGSLIDER™ Lid 236ml @ \$25.00 each	\$50.00	Retained by the recipient
11/03/24	Minister Street	National Basketball League Australia 2 @ \$400.00 each	2 x Tickets - Tasmania JackJumpers v Perth Wildcats NBL Playoff Game 2	\$800.00	Retained by the recipient
15/03/24	Minister Street	Housing Industry Association	1 x Ticket - Housing Industry Association (HIA) HOMEFEST Trade Night	\$80.00	Retained by the recipient
22/03/24	Minister Street	National Basketball League Australia	2 x Tickets - Tasmania JackJumpers v Melbourne United NBL Championship Series Game 2 @ \$425.00 each	\$850.00	Retained by the recipient
22/03/24	Premier Rockliff	Tasmania JackJumpers - 2 @ \$119.00 each	2 x Tickets - Tasmania JackJumpers v Melbourne United NBL Championship Series Game 2 @ \$119.00 each	\$238.00	Retained by the recipient
27/03/24	Minister Street	Huon Aquaculture	1 x Salmon Easter Hamper	\$150.00	Retained by the recipient
28/03/24	Minister Street	National Basketball League Australia	2 x Tickets - Tasmania JackJumpers v Melbourne United NBL Championship Series Game 4 @ \$425.00 each	\$850.00	Retained by the recipient
28/03/24	Premier Rockliff	Tasmania JackJumpers	2 x Tickets - Tasmania JackJumpers v Melbourne United NBL Championship Series Game 4 @ \$119 each	\$238.00	Retained by the recipient
31/03/24	Premier Rockliff	Tasmania JackJumpers	2 x Tickets - Tasmania JackJumpers v Melbourne United NBL Championship Series Game 5 @ \$500 each	\$1,000.00	Retained by the recipient
05/04/24	Premier Rockliff	Tasmania JackJumpers	1 x Ticket - Tasmania JackJumpers 2024 MVP Gala Ball	\$275.00	Retained by the recipient
16/04/24	Minister Ellis	Sibanye-Stillwater	1 x Sibanye-Stillwater Dinner	\$120.00	Retained by the recipient
01/05/24	Minister Duigan	TasNetworks	1 x TasNetworks Board Dinner	\$180.00	Retained by the recipient
09/05/24	Premier Rockliff	The Mind Games	1 x The Mind Games Merchandise Package	\$60.00	Retained by the recipient
11/05/24	Minister Ellis	Hawthorn Football Club	1 x Ticket - 2024 Tasmania President's Function, Round 9 - 26th Blue Ribbon Cup Hawthorn vs St Kilda AFL Game	\$425.00	Retained by the recipient

Date	Minister	From	Gift Details	Value	Disposal and Location
11/05/24	Minister Palmer	Hawthorn Football Club - 2 @ \$425.00 each	2 x Tickets - 2024 Tasmania President's Function, Round 9 - 26th Blue Ribbon Cup Hawthorn vs St Kilda AFL Game	\$850.00	Retained by the recipient
14/05/24	Minister Palmer	RANT Arts	1 x Floral Arrangement from Lily West Tamar Flowers	\$65.00	To be donated to an organisation
22/05/24	Premier Rockliff	His Excellency Mr Kazuhiro Suzuki (Ambassador of Japan)	1 x Kagami Pair of Tumblers, Edo Kiriko "Crossover grooves"	\$163.84	Retained by the recipient
24/05/24	Premier Rockliff	Asahi Beverages	1 x Gift set 200 Years of Cascade Brewery Co	\$83.00	Retained by the recipient
26/05/24	Minister Howlett	Tasmanian Racing Club	1 x Ticket - Aviso TAS Pink Cup Day Luncheon	\$165.00	Retained by the recipient
27/05/24	Minister Howlett	Tasmanian Turf Club	2 x Tasmanian Turf Club Season Pass Memberships @ \$185.00 each	\$370.00	Retained by the recipient
29/05/24	Premier Rockliff	SPEAK UP! Stay ChatTY	1 x SPEAK UP! Stay ChatTY Shorts Day Hoodie @ \$65.00 and Pair of Shorts @ \$39.00	\$104.00	Retained by the recipient
30/05/24	Minister Howlett	MONA	1 x MONA Executive Dinner	\$150.00	Retained by the recipient
31/05/24	Minister Howlett	Bream Creek Dairy	1 x Stroud Single Malt Whisky Bream Creek Dairy	\$135.00	Retained by the recipient
01/06/24	Premier Rockliff	Midland Agricultural Association Inc	2 x Tickets - President's Luncheon - 2024 Campbell Town Show @ \$40.00 each	\$80.00	Retained by the recipient
04/06/24	Minister Duigan	Tasmanian Chamber of Commerce and Industry	1 x Ticket - Clean Energy Tasmania Dinner	\$70.00	Retained by the recipient
06/06/24	Minister Duigan	Tasmanian Chamber of Commerce and Industry	1 x Ticket - Tasmanian Chamber of Commerce and Industry Cabinet Cocktail Party	\$120.00	Retained by the recipient
06/06/24	Premier Rockliff	City Mission	1 x Ticket - City Mission 'Pay It Forward' Breakfast	\$85.00	Retained by the recipient
11/06/24	Premier Rockliff	News Corp Australia	1 x News Corp Private Dinner	\$250.00	Retained by the recipient
12/06/24	Minister Duigan	Australian Institute of Company Directors Group	1 x Australian Institute of Company Directors Dinner	\$134.00	Retained by the recipient
13/06/24	Minister Street	Dark MOFO	4 x Tickets - Dark Mofo Winter Feast (Season Pass) @ \$50.00 each	\$200.00	Retained by the recipient
14/06/24	Minister Ferguson	Encore Theatre, Launceston	2 x Tickets - Opening Night Production of "The 39 Steps" @ \$85.00 each	\$170.00	Retained by the recipient

Date	Minister	From	Gift Details	Value	Disposal and Location
24/06/24	Minister Howlett	Grenville Stud	1 x Book "Stallions 2024" by BLUEBLOODS	\$180.00	Retained by the recipient
27/06/24	Minister Howlett	Ladbrokes Racing Club	1 x Ticket - Greyhound Tasmania Charity Race Night	\$100.00	Retained by the recipient
29/06/24	Premier Rockliff	Netball Australia	8 x Tickets - Melbourne Mavericks vs Sunshine Coast Lightning Suncorp Super Netball Game @ \$400.00 each	\$3,200.00	Retained by the recipient
01/07/24	Minister Barnett	Gidget Foundation Australia	1 x Armani Code Sport Eau de Toilette Pour Homme 75ml Bottle	\$150.00	Retained by the recipient
03/07/24	Minister Ferguson	CEDA	1 x Ticket - CEDA - Tasmania State of the State 2024	\$300.00	Retained by the recipient
03/07/24	Minister Abetz	Woolworths Group	1 x Ticket - CEDA - Tasmania State of the State 2024	\$300.00	Retained by the recipient
05/07/24	Minister Ogilvie	Hobart Women's Shelter	1 x Ticket - Hobart Women's Shelter Fundraiser	\$266.03	Retained by the recipient
05/07/24	Minister Street	Australian Football League	3 x Tickets - Round 17 Collingwood vs Essendon AFL Game @ \$61.50 each	\$184.50	Retained by the recipient
13/07/24	Minister Street	Hawthorn Football Club	1 x Ticket - 2024 Tasmania President's Function, Round 18 Hawthorn vs Fremantle AFL Game	\$425.00	Retained by the recipient
13/07/24	Minister Palmer	Hawthorn Football Club	2 x Ticket - 2024 Tasmania President's Function, Round 18 Hawthorn vs Fremantle AFL Game @ \$425.00 each	\$850.00	Retained by the recipient
17/07/24	Minister Palmer	Chinese Consul General, Mr Xinwen Fang	1 x Scarf	\$80.00	Retained by the recipient
22/07/24	Minister Abetz	Mondelez Australia Pty Ltd	1 x Box of Assorted Cadbury's Chocolate	\$200.00	Retained by the recipient
25/07/24	Premier Rockliff	News Corp	2 x Tickets - The Australian 60th Anniversary Celebration Dinner @ \$409.20 each	\$818.40	Retained by the recipient
27/07/24	Premier Rockliff	North Melbourne Football Club	5 x Tickets - President's Function, Round 20 - North Melbourne vs Geelong AFL Game @ \$350 each	\$1,750.00	Retained by the recipient
27/07/24	Minister Abetz	TT Line	1 x Ticket - President's Function, Round 20 - North Melbourns vs Geelong AFL Game	\$350.00	Retained by the recipient
27/07/24	Premier Rockliff	Ronald McDonald House Charities Victoria & Tasmania	1 x Ticket - Ronald McDonald House Charities VIP Pre-Dinner Drinks and Tasmanian Gala Ball	\$285.00	Retained by the recipient

Date	Minister	From	Gift Details	Value	Disposal and Location
01/08/24	Premier Rockliff	Hellyers Road Distillery	1 x Hellyers Road Distillery Gift Box	\$65.00	Retained by the recipient
03/08/24	Minister Street	Huon Aquaculture	1 x Ticket - Variety of Chefs Gala Ball 2024	\$197.50	Retained by the recipient
03/08/24	Minister Howlett	Tasmanian Trotting Club	1 x Ticket - The 'Beautide' Harness Racing	\$50.00	Retained by the recipient
09/08/24	Minister Street	Beaker Street Festival	3 x Tickets - Beaker Street Festival Main Stage	\$51.00	Retained by the recipient
			Session One - The Dr Karl vs Everyone Game		
			Show @ \$17.00 each		
10/08/24	Premier Rockliff	DanceSport Tasmania	4 x Tickets - 7 Tasmania Open DanceSport	\$620.00	Retained by the recipient
			Championship 2024 @ \$155.00 each		
13/08/24	Premier Rockliff and	Australian Olympic Committee Inc	1 x Paris 2024 Olympic Games Commemorative	\$120.00	Retained by the recipient
	Minister Street		Swatch Watch		
20/08/24	Minister Street	Tourism Industry Council	1 x Ticket - Tourism Industry Council Tasmania	\$150.00	Retained by the recipient
		Tasmania	Evening Networking Event		
21/08/24	Minister Street	Tourism Industry Council	1 x General Ticket - Tourism Industry Council	\$299.00	Retained by the recipient
		Tasmania	Tasmania Conference Day 2		
21/08/24	Minister Abetz	Geeveston Golf Club	1 x Golf Club Membership	\$280.00	Retained by the recipient
23/08/24	Premier	Paralympics Australia	1 x Paralympics Australia 2024 Paris Gift Box	\$59.90	Retained by the recipient
24/08/24	Premier	Rob Fairs Foundation	2 x Tickets - Feast on Tasmania 2024 Fundraising	\$300.00	Retained by the recipient
			Event @ \$150.00 each		
26/08/24	Minister Ogilvie	Tasmanian Museum and Art	1 x Ticket - "WRECKED" International Art	\$250.00	Retained by the recipient
		Gallery	Exhibition by Dr Lucienne Rickard		
08/09/24	Minister Street	AFL Tasmania	1 x Ticket - 2024 Southern Football League	\$100.00	Retained by the recipient
			Women (SFLW) Grand Final Luncheon		
10/09/24	Premier Rockliff and	Xinwen Fang, Consul General of	1 x Mid Autumn Festival Hong Kong MX	\$57.88	Retained by the recipient
	Minister Palmer	the People's Republic of China in	Mooncakes in Presentation Box 420g (6 x 70g)		
		Melbourne			
11/09/24	Premier Rockliff	Department of Natural Resources	1 x AgriGrowth Vest and 1 x AgriGrowth Jacket	\$158.80	Retained by the recipient
		and Environment Tasmania (NRE			
		Tas)			
12/09/24	Minister Barnett	Royal Over-Seas League,	1 x Fullers Bookshop Gift Voucher @ \$50.00 and 1	\$73.99	Retained by the recipient
		TasBranch and Combined	x bottle Peter Lehmann The Barossan Cabernet		
		Commonwealth Societies of Tas	Sauvignon 2022 @ \$23.99		

Date	Minister	From	Gift Details	Value	Disposal and Location
14/09/24	Minister Street	AFL Tasmania	1 x Ticket - 2024 Southern Football League Grand Final Luncheon	\$100.00	Retained by the recipient
21/09/24	Minister Howlett	South East Netball Association	1 x Ticket South East Sunds End of Season Dinner	\$65.00	Retained by the recipient
27/09/24	Minister Ogilvie	Tasmanian Hospitality Association	1 x Ticket - Australian Football League Grand Final Ladies Luncheon at Blundstone Arena	\$145.00	Retained by the recipient
27/09/24	Minister Palmer	Susan McKinnon Foundation	Education Study Tour to United Kingdom - Hosted by Susan McKinnon Foundation	\$26,000.00	Retained by the recipient
28/09/24	Minister Abetz	Huon Aquaculture	2 x Tickets - Tasmania JackJumpers v Melbourne United NBL Game @ \$150.00 each	\$300.00	Retained by the recipient
28/09/24	Premier Rockliff	North Melbourne Football Club	2 x Tickets - 2024 DrinkWise North Melbourne Grand Final Breakfast @ \$295.00 each	\$590.00	Retained by the recipient
28/09/24	Premier Rockliff and Minister Street	Australian Football League	2 x Tickets - 2024 Toyota Australian Football League Grand Final Commission Lunch @ \$490.00 each	\$980.00	Retained by the recipient
28/09/24	Minister Street	Brisbane Lions Football Club	2 x Tickets - Brisbane Lions Australian Football League (AFL) Grand Final After Party @ \$299.00 each	\$598.00	Retained by the recipient
02/10/24	Minister Duigan	TasNetworks	1 x TasNetworks CEO Council Meeting Dinner	\$140.00	Retained by the recipient
02/10/24	Minister Ferguson	Tasmanian Industry Body for Information Communication and Technology Sector	1 x Ticket - Tasmanian Industry Body for Information Communication and Technology Sector (TasICT) Networking Event	\$75.00	Retained by the recipient
06/10/24	Minister Duigan	East Launceston Bowls Club	1 x Ticket (Corporate Box) - East Launceston Bowls Club Event	\$50.00	Retained by the recipient
10/10/24	Premier Rockliff	United States Australian Football League	1 x United States Australian Football League (USAFL) Gift Package	\$100.00	Retained by the recipient
14/10/24	Ministers Duigan, Ellis, Howlett and Palmer	Tasmanian Hospitality Association (THA)	1 x Ticket - Tasmanian Hospitality Association (THA) VIP Cocktail Party "Tasmanian Produce Experience"	\$180.00	Retained by the recipient
18/10/24	Minister Palmer	Tasmanian JackJumpers	4 x Tickets - Tasmanian JackJumpers vs Sydney Kings NBL Game @ \$364.58 each	\$729.16	Retained by the recipient

Date	Minister	From	Gift Details	Value	Disposal and Location
21/10/24	Premier Rockliff	Waverley Mills	1 x Waverley Mills Collector's Edition 150th Anniversary Scarf and 1 x Throw	\$498.00	Retained by the recipient
22/10/24	Premier Rockliff	TasRail	1 x Framed Photo "TasRail Shiploader, Port of Burnie 2024"	\$160.00	Retained by the Crown
24/10/24	Minister Howlett	Royal Agricultural Society of Tasmania	1 x Ticket - 2024 Betta Milk Royal Hobart Show President's Luncheon	\$110.00	Retained by the recipient
29/10/24	Minister Howlett	Federal Group	2 x Tickets - 2024 Federal Hospitality Partner Awards @ \$130 each	\$260.00	Retained by the recipient
30/10/24	Ministers Barnett, Howlett and Petrusma	Tasmanian Hospitality Association	3 x Tickets - Tasmanian Hospitality Association (THA) Awards for Excellence @ \$95.00 each	\$285.00	Retained by the recipient
31/10/24	Premier Rockliff	Dane McCormack (Author)	3 x Books by Tony McCormack "Reaching Out From Ben Lomond", "Reaching Out From Evandale" and "Reaching Out From Willowdene, An Evandale Boy Kicks Goals" @ \$29.95 each	\$89.85	Retained by the recipient
31/10/24	Minister Abetz	Ports Australia	1 x Vest	\$50.00	Retained by the recipient